Seven-piece table and chairs set

Y =

‘/‘\/‘1-‘ 1

Thanks for purchasing our rattan set, here are some

installation tips that may help you:
1. This rattan set will be shipped from the US warehouse

with only one box.
2. If the product part is broken or missing during

installation, please feel free to contact us and we will send

you the replacements asap.
3. We hope you can enjoy our product, and if you have

any questions, please feel free tocontact us.

P1




Packing List of B

Label no. | Img Part Name Qty
G H RIGHT ARMEREST | 2
H 5 |RIGHT SEAT BOARD| 2
C 3 |LEFT SEATBOARD| 1
0 [] |SIDE TABLE 2
N Q TABLE FEET 2
S [ 7] |ARMRESTPILLOW | 1
T [ |STOOL CUSHION | 3
Q I BACK CUSHION 6
| [ |SEAT CUSHION 6
F &>  |7-FEET 12
a1 * ... |SCREW M6*15 8
az .. |SCREW M6*35 67
a, D SCREW M6*45 24
a, Tos SCREW M6*55 6

z
x

Spanner(W) x

P2




Packiny Listof Bo

Label no.

Part Name

Q
<

L

TABLE TOP

TABLE LEG

FIXED BRACKET

LEFT ARMEREST

RIGHT BACK

LEFT BACK

SIDE TABLE

TABLE FEET

Z|Z|O0|w| O > T m

Ol o 7@ =

STOOL TOP

WinIDPFP INIPEPIFRPIN|EF

P3




~
Assembly Instruct

M 1pc
N 2pcs —
W
O 2pcs S
1.Nand O Assembly with 8 pcs a2. /
2.Mand N Assembly with4 pcsa2. , ;
5 g
((12pcs ) 1PC ) 1PC )

|a2

L =

J

ITL |\a_6

Do not fully tighten all screws until assembly is completed.

\_ P4

_J/ S/




~
Assembly Instructic

5 %%‘
LT .

=

Cushion Olive buckle Instructions:
Please kindly note to insert the buckle into the PE rattan to secure the cushion.

o P /




~
Assembly Instruct

1pc

1pc

mMIT|®» 0

4pc

1.2 pcsadforGand D assembly.
2.9pcs a2 for H.G&D Assembly.
3.8 pcsa2for FAssembly.

((9pcs Y 8pcs | 2pcs | 1pc Y 2PC_ )

A\ A /
Do not fully tighten all screws until assembly is completed.

o Fo /




~
Assembly Instruct
~

7 9'Ge

mo|o| >

1.2 pcsa4forGandD assembly.
2.9pcs a2 for H.G&D Assembly.
3.8 pcsa2forFAssembly.

((9pcs Y 8pcs Y 2pcs | 1pc | 2PC Y 2PC Y 1PC
2 3

6*35

Do not fully tighten all screws until assembly is completed.

o il /




-

( 2F>c|_V 2Pc|_v 1PCI_
| Q S
i Iy N iy

Cushion Olive buckle Instructions:
Please kindly note to insert the buckle into the PE rattan to secure the cushion.

P8

J




~
Assembly Instruct

D

L 1pcs
E 2pcs
P 1pc

1.8 pcsalforLand EAssembly.
2.4 pcs a4 forPand EAssembly.

8pcs | 4pcs ( 1pc )
[ 8p

| a | a [ as
Lm*ﬂi \%*35 \

Do not fully tighten all screws until assembly is completed.

P9 j




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9

